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D. Segment Intersections

HEN

Oo0o00o00 $[laralllbrbl$0D0000 $n$ 0000 $a_1,a 2\cdotsa n$ O $b_1,b 2\cdots

b n$

O0oooooooooo $ihrisgooooo $-1,r1$ O $[Lr+11$0

0000000000000 $\sum _{i=1}"nf(a_i,b_iN\gek$(O O $f(a,b)$ 0000 $a,bs 00000
RN

g1l

0000 %isp000nD $is0000noooooooooon $0(n)sn

int main

int t=read_int();
t--

LL
n=read int(),k=read int(),ll=read int(),rl=read int(),12=read int(),r2=read
_int(),ans=1el0;

LL tot=max(rl,r2)-min(11,12),d=max(11,12)-min(rl,r2);

_rep(i,1,n

tot*i>=k
ans=min(ans,d*i+k) ;

ans=min(ans, (tot+d) *i+(k-tot*i)*2);

ans=max(ans,OLL) ;
enter(ans);

g2

0000000000 $0(1)$[
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int main

int t=read_int();
t--
LL
n=read int(),k=read int(),ll=read int(),rl=read int(),12=read int(),r2=read
_int();
11>12
swap(l1,12),swap(rl,r2);
rl>=r2
k-=n*(r2-12);
ri-=(r2-12);
r2=12;
swap(rl,r2);

r1>=12
k-=n*(rl-12);
swap(rl,12);
r2-=12-ril;
12=r1;

k<=
pUtS ||0|| ;

’

int cost=2*(12-rl1),d=12-r1,lenl=rl1-11,len2=r2-12;
lenl+len2+d==
enter(k*2);

’

k>=n*(lenl+len2+d
k-=n*(1lenl+len2+d) ;
enter(n*(lenl+len2+cost)+2*k) ;

.
’

int ks=k/(lenl+len2+d);
k%=(1lenl+len2+d) ;

ks>
enter(ks*(lenl+len2+cost)+min(2*k,d+k) ) ;

enter(d+k) ;
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E. Calendar Ambiguity

0o
OO0O0D0000 $xd+y\equiv yd+x\pmod w$[JC0 O $1\le x,y\le n$[]

gd

0000 $d(x-y)\equiv 0\pmod w$[D0 $w'=\frac w{(w,d)}$00 000000 $wmid (x-y)$[]

0000 $(xy)=iw'$0 00000 ooooo $$\sum_{i=1}"{\Ifloor\frac n{w'}\rfloor}n-
iw'=n\Ifloor\frac n{w'}\rfloor-\frac {\Ifloor\frac n{w'}\rfloor(1+\Ifloor\frac n{w'}\rfloor)}2\Ifloor\frac
n{w'Hrfloor w$$

Oo0oooO $0(\og(\min(w,d)))$0

int main
int t=read int();
t--
int m=read int(),d=read int(),w=read int(),n,k;
w/=_ gcd(w,d-1);
n=min(m,d),k=n/w;
enter (1LL*n*k-1LL*(1+k)*k*w/2);

F. Bicolored Segments

ud

OO0 $n$000 $[liri$00000000000D00000D00OO0O00DOODOO00ODODOO0O0OD0

g1l

gobooobboobobooobbooobboobobbooobbuooobobo
gobogobooboobobooobbooobboobobooobbooobbooobDbooooboD

O0000000000D00O $Lis000 ¢$risoopoooo

000000 $x$0000000000 $x$0000000D0O0O000ODOODOOO0ODOOOOODO
$x¢DOOoOoooOO
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gobooobobooooboooobbooobbuooobbooobbooobbooobbooobbog
gbobooobobooobobooon
goboooboboooobooobbooobbuooobooobobooobbooobbooobobag
goobodad

gbobogoboodbobooobobooooobooobboobbooobboon
0000000000000 00000D0000 su1$00oooog $v 1%

00000000000 $u1$s000000 %$u1$0%v 10000000000 $v 1400000
gobooobooobboon

00000000000 $v 14000000 $ul$s0O$v1$0000000000 $uls0000O0O
gobogobooobobooon

00000000000 $ul1$0$v2$000%$u2$0 $v 1000

0000000 $ul$s000 $v2$00000$v 14000 $u240000(@O000000000)
000000000 $ul$000 $u2$s0000$v. 1$000 $v 240000

00 $u2$0¢$v2$00000000000000000000000000

gobogoboooobooboooon

const int MAXN=2e5+5;
int lef[MAXN!,rig/MAXN|,c/MAXN];
struct Event
int x,v,id;
bool operator < (const Event &b)const
x<b.x| | (x==b.x&&v>b.v);

alMAXN<<1];
set<pair<int,int> > s ;

int main

int n=read _int();

_for(i,0,n
leflil=read int(),riglil=read int(),cli|=read int()-1;
alil=Event{lef[il,1,1i};
ali+n|=Event{rigii/,-1,1i};

sort(a,a+2*n);
int ans=n;
_for(i,0,2*n
int pos=alil.id;
alil.v>
s[cipos!|.insert(make pair(rig|pos|,pos));

s/cipos!|.find(make pair(rig/pos|,pos))!=siclpos]|.end
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s/clpos||.erase(make pair(rig|pos|,pos));
s(clpos|”~1l].begin()!=s[c[pos|”~1l].end
s[clpos|”~l].erase(s[c[pos|~1l].begin ;
ans--;

enter(ans);

?

gg 2

oooooooo
00 $dp$00 $dp(c,pos)$ 00 $pos$ DO OMO $c$ 00 $pos$ DO DDDOOODODOOOOODO

$w(c,,nNs0O0O0C ¢$[lris000000C0O0O $c$00000D0C0O0O $c$000OSlrispc0OnDODO
goo

$$dp(c,r)=\max_{0\le i\le I-1 }\left(dp(c\oplus 1,i)+w(c,i+1,r)\right)$$
O0D0O0O00000 $dp(c\oplus 1,i-1)+w(c,i,pos)$[]

0000000000000 $rs0000000$IS0000D00O000ODO0O0O0O0O0O0ODO0O0O0O0O $cur$
goodggo

O0000 $c$000 $[lrl$s0000 $w(c,i,r\gets 1(0 \le i\le 1),dp(c,r)=\max(dp(c,r),cur)$]
D0000 $c$0D0ooooaoog siNinfl,rl$ O $dp(c,i-1)+w(c\oplus 1,i,pos)$ DD OO DO OO

00000 $0(n\og n)$[]

const int MAXN=2e5+5;
struct Node
int lef,rig;
bool operator < (const Node &b)const
rig<b.rig| | (rig==b.rig&&lef<b.lef);

nodel|[MAXN|,node2 MAXN];
struct Tree
int s/MAXN<<3],lef MAXN<<3]|,rig|[MAXN<<3|, lazy MAXN<<3]|;
void build(int k,int L,int R
lef[kl=L,rig/ k!=R;
L==R ;
int M=L+R>>1;
build(k<<1,L,M);
build(k<<1|1,M+1,R);

void push up(int k
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s kl=max(s|[k<<ll,s k<<I]| ;

void push down(int k
lazy |k
s k<<l]+=lazy|k]|,lazylk<<l|+=lazy|k];
sl k<<l|1ll+=lazy|k],lazy|k<<l|1l+=lazy|k!;
lazy k|!=0;

void add(int k,int L,int R
L<=lef k|&&rig/ k|<=R
s kl++,lazy | k]|++;

’

push down (k) ;

int mid=lef[k|+rig/k|>>1;
mid>=L

add (k<<1,L,R);
mid<R

add (k<<1|1,L,R);

push up(k);

void update(int k,int pos,int v
lef kl==rig/k
slkli=max(s(kl|,v);

.
’

push down (k) ;

int mid=lef[k|+rig/k]|>>1;
mid>=pos

update(k<<1,pos,v);

update(k<<1|1,pos,v);
push up(k);

int query(int k,int L,int R
L<=lef|k|&&rig|k]|<=R

s kl;
push down (k) ;
int mid=lef[k|+rig/k|>>1,ans=0;
mid>=L
ans=max(ans,query(k<<1l,L,R));
mid<R
ans=max(ans,query(k<<1|1,L,R));
ans;

treel, tree2;
int x[MAXN<<1];
int main
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int n=read int(),nl=0,n2=0,1,r,c;
_for(i,0,n
l=read int(),r=read int(),c=read int();
c==1)nodel|[nl++]=Node{l,r};
node2 [ n2++/=Node{l,r};
x[1i1=1,x[i+n]=r;

sort(x,x+2*n);

int m=unique(x,Xx+2*n)-x;

_for(i,0,nl

nodel|[i].lef=lower bound(x,x+m,nodel
x+1,nodel|i].rig=1lower bound(x,x+m,nodel

_for(i,0,n2

node2[i|.lef=lower bound(x,x+m,node2[i|.lef)-
x+1,node2[i].rig=lower bound(x,x+m,node2[i].rig)-x+1;

sort(nodel,nodel+nl);sort(node2,node2+n2) ;

=-

.lef) -
.rig) -x+1;

=-

treel.build(1,0,m);tree2.build(1,0,m);
int posl=0,pos2=0,ans=0,cur;
posl<nl&&pos2<n2
nodel|posl|.rig<node2|pos2|.rig
cur=tree2.query(1,0,nodel|[posl].lef-1)+1;
ans=max(ans,cur);
tree2.add(1,0,nodel posl]|.lef-1);
treel.update(1,nodel/posl|.rig,cur);
posl++;
cur=treel.query(1,0,node2[pos2].lef-1)+1;
ans=max(ans,cur);
treel.add(1,0,node2 pos2]|.lef-1);
tree2.update(1,node2/pos2|.rig,cur);
poSs2++;
posl<nl
cur=tree2.query(1,0,nodel[posl].lef-1)+1;
ans=max(ans,cur);
tree2.add(1,0,nodel posl|.lef-1);
treel.update(1,nodel/posl]|.rig,cur);
posl++;
pos2<n2
cur=treel.query(1,0,node2[pos2].lef-1)+1;
ans=max(ans,cur);
treel.add(1,0,node2pos2].lef-1);
tree2.update(1,node2[pos2].rig,cur);
poOS2++;
enter(ans);

’
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G. Directing Edges

ud

OO0 $n$00 $m$0000000O0ODO $k$ 000000 DO0OO00O0O0O0OOO00ODOOOO0ODOOO

goboooboboooobooobbooobbuooobooobobooobbooobbooobobag
gobooobooobobooon
goboogobbooboboooobbooobbuooobooobboooboboooobooobobag
goboooboobooooo

0000 $n$ 00000000 $i$0000000000000O0O0O000O $=$00 $$00D0

gd

goboooboobodobooobbooobbooobbbooobbooDbboobboOoon

gobogobooobobooobbdooobbooobbooobbooooobooobobg
$\text{dp}3$0

OO00O00DO00ssooooo0ob0ooo0obo@Eooobooooboobooobooon)

O00$1$000000000 $\text{dpHu)$ 000 $1$0000000000O00O0O0O0O $u$s00O0O0
sus 000000 ooooo

00 $\text{dpHu)$ OO DD $u$ 000000000000 DOODO0OO0O0ODOOODOOO $u$SO0ODOO
O0o0oooo $vsg

000000000000 $v$4000000 $v$000000000 $vitous 000DOODOO
$\text{dp}(u)\gets \text{dp}(v)$[]

00000000000oOoOo $v$s 0000000000 DO $suvtov$ D000 OoOoOoOoOoOoo
$\text{dp}(u)\gets \text{dp}(v)$[]

0000000000000 0oooOo $v$ 0000000000 DOD $uw$ 0000000000 $v$
o0 $u$[]

0000 $v$ 0000000 $u$unO $v$ 000000 $u$ 000000 $v,us 00000 OOO
00000 $dp(v)-w(u,v)$0

O0D0o0O0oo0oooooO $dp(u)=\max(0,dp(v)-w(u,v))$0
O00000000 $0nsO00ssnioounDoonooooonooooon $\text{dp}s$Q

000000000000 $u$fsvs 0 sus 00000
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00000 %v$ 0 $us 000000000000 $u$0 0000000 $v$000DODO0O0D0ODOOO
00000 s 00000 $v$0000000000

O000 $\text{dfs}$ 0000000000000 O $0(n)$0

const int MAXN=3e5+5;

struct Edge
int from,to,id, next;

edge  MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v,int idx
edge|++edge cnt|=Edge{u,v,idx,head|ul};
head|u|=edge cnt;

int low|[MAXN|,dfs id|[MAXN|,dfs t,bcc id/MAXN|,bcc sp[MAXN|,bcc cnt;
bool is bridge[MAXN];
LL bcc vIMAXN|,dp ! MAXN|,ans MAXN/;
vector<int> bcc[MAXN];
vector<pair<int,int> >g[MAXN;
int k,c[MAXN!,node sp[MAXN|,edge w/MAXN];
void dfs(int u,int fa
low/u/=dfs id|u|=++dfs_t;
int i=head|u];i;i=edge[i].next
int v=edgeli].to;
v==Tfa ;
ldfs idlv
dfs(v,u);
low/u/=min(low|ul,low(v]);
low/v/>dfs id|u
is bridgeledgeli].id|=true;

low/u|=min(low/ul,dfs id[v]);

void dfs 2(int u,int fa
bcc_idlul=bcc_cnt;
bcc vibcc cnti+=clul;
bcc _splbcc _cnt|+=node splul;
bcclbcc _cnt].push back(u);
int i=head|u];1i;i=edge!i].next
is bridgeledgeli].id ;
int v=edgel[i].to;
v==Ffa||bcc _idlv ;
dfs 2(v,u);

void get bcc(int n
dfs(1,1);
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_rep(i,1l,n
Ibcc idli
bcc cnt++;
dfs 2(i,1);

_rep(i,l,edge cnt
is bridgeledgeli].id
int u=bcc id|edge(i!.from]|,v=bcc id|/edgeli!.to];
glu!.push back(make pair(v,edge w|ledge/i]|.id ;

void update edge(int u,int v,int d,int w
LL t=dplv/;
bcc splv|=0&&bcc splivi<k
t=max (OLL,dp[Vv]-w);
dplul+=d*t;
bcc splul+=d*bcc splv!;

void dp 1(int u,int fa
dplul=bcc viul;
_for(i,0,glul.size
int v=glul[i].first,w=glu][i].second;
v==fa ;
dp 1(v,u);
update edge(u,v,1,w);

void dp 2(int u,int fa
ans/ul/=dplul;
_for(i,0,glul.size
int v=glu][i].first,w=glu][i].second;

==fa ;
update edge(u,v,-1,w);
update edge(v,u,l,w);
dp 2(v,u);
update edge(v,u,-1,w);

update edge(u,v,1,w);

int main

int n,m,u,v;

n=read int(),m=read int(),k=read int();
_rep(i,1,k

node splread int()|=1;

_rep(i,1,n

clil=read int();

_rep(i,1,m
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edge w/il=read int();

_rep(i,1,m
u=read int(),v=read int();
Insert(u,v,i);Insert(v,u,i);

get bccin);
dp_1(1,1);
dp 2(1,1);
_rep(i,1,n
space(ans/bcc id[1i ;

?
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